



# CERTIFICATE OF ORIGIN

ORIGINAL

TO VALIDATE, GO TO [VERIFY.FTGS.US](http://VERIFY.FTGS.US) Certificate Number : **LA-COO-69526-696150c54eed6**  
Date : **January 09, 2026**

Seller (Exporter) Delta Scientific Corporation 40355 Delta Lane Palmdale California 93551 United States	Transport Type Vessel	Port of Loading Long Beach, CA
Consignee SKE S.R.L. Via Zamenhof 82936100, Vicenza, Italy Italy	Destination Country Italy	Destination Port Venezia
	Export Date *****	Exporting Carrier *****
	Import Permit Number *****	Bill of Lading / AWB *****
	Owner or Agent *****	Forwarding Agent *****

Buyer (Importer)	Remarks	
------------------	---------	---

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Security Booths / Kiosk Booths	24,000 lbs	United States
Bullet Resistant Security Booth Assemblies	26,000 lbs	United States
Phalanx Vehicle Barrier Systems - 1 Meter High		
Dual Electromechanical Barrier Systems		
Clear Opening 109 Inches		
Electrical and Mechanical Control Equipment	5,774 lbs	United States
NEMA 4 / NEMA 4X Control Enclosures		
Barrier Accessories and Components		
=====end of products=====	=====	=====

Name of Authorized Trade Association   Authorized Signature <i>Farhad Ghorbani Fard</i>	  	The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: <ul style="list-style-type: none"> <li>The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.</li> <li>The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete.</li> <li>The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.</li> <li>The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.</li> <li>In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection therewith.</li> <li>The Applicant is authorized to give the undertakings set out herein.</li> </ul>
--	--	--

# COMMERCIAL INVOICE

Page no. 1

**Delta Scientific Corp.**  
40355 Delta Lane  
Palmdale, CA 93551

Order No.: 94308  
Customer No.: SKE03

Bill To: **SKE INTERNATIONAL**  
VIALE VENEZIA, 79B  
33074 FONTANAFREDDA

Ship To: **TBD**  
VIALE VENEZIA, ITALY

Date	Ship Via		F.O.B.	Terms	
06/25/2025	BEST WAY		Origin	CASH IN ADVANCE	
Purchase Order Number	Required Date		Sales Person	Our Order Number	
2025-BU14276A/	01/24/2025		JEREMY ANDREWS	94308	
Quantity	Item Number		Description	Unit Price	Amount
Required	Shipped	B.O.			

\*\*\*\*\*  
JOB #K2645 (1 OF 2)  
\*\*\*\*\*

2 CK510 SECURITY BOOTH 71731.03 143462.06  
BULLET RESISTANT, LEVEL 5  
FLAT ROOF

\*\*\*\*\*  
SUBMITTALS REQUIRED  
FOR APPROVAL

\*\*\*\*\*  
PO#: 2025-BU14276A/PO#02R

\*\*\*\*\*  
MODEL: CK7715W  
COLOR: TBD

\*\*\*\*\*  
POC: JENNIFER MASSING  
JMASSING@SKE.EU

Order subtotal 143462.06  
Freight charges 7333.33

Order total 150795.39

THANK YOU FOR PROMPT PAYMENT.



*Certified true and correct. Made in the USA. Amounts shown are in US Dollars.*

LA-C00-69526-696150c54eed6/January 09, 2026

# COMMERCIAL INVOICE

Page no. 1

## Delta Scientific Corp.

40355 Delta Lane  
Palmdale, CA 93551

Order No.: 94309  
Customer No.: SKE03

Bill To: **SKE INTERNATIONAL**  
VIALE VENEZIA, 79B  
33074 FONTANAFREDDA

Ship To: **TBD**  
VIALE VENEZIA, ITALY

Date	Ship Via		F.O.B.	Terms	
06/25/2025	BEST WAY		Origin	CASH IN ADVANCE	
Purchase Order Number	Required Date		Sales Person	Our Order Number	
2025-BU14276A/	01/24/2025		JEREMY ANDREWS	94309	
Quantity	Item Number		Description	Unit Price	Amount
Required	Shipped	B.O.			

\*\*\*\*\*  
JOB #K2645 (2 OF 2)  
\*\*\*\*\*

1 CK77 SECURITY BOOTH 64427.02 64427.02  
BULLET RESISTANT, LEVEL 5  
FLAT ROOF

\*\*\*\*\*  
SUBMITTALS RFEQUIRED  
FOR APPROVAL

\*\*\*\*\*  
PO#: 2025-BU14276A/PO#02R

\*\*\*\*\*  
MODEL: (1) CK77 BOOTH  
COLOR: TBD

\*\*\*\*\*  
POC: JENNIFER MASSING  
JMASSING@SKE.EU

Order subtotal 64427.02  
Freight charges 3666.66

Order total 68093.68

THANK YOU FOR PROMPT PAYMENT.



*Certified true and correct. Made in the USA. Amounts shown are in US Dollars.*

LA-C00-69526-696150c54eed6/January 09, 2026

# COMMERCIAL INVOICE

Page no. 1

## Delta Scientific Corp.

40355 Delta Lane  
Palmdale, CA 93551

Order No.: 94243  
Customer No.: SKE03

Bill To: **SKE INTERNATIONAL**  
VIALE VENEZIA, 79B  
33074 FONTANAFREDDA

Ship To: **TBD**  
VIALE VENEZIA, ITALY

Date	Ship Via		F.O.B.	Terms	
06/18/2025	BEST WAY		Origin	CASH IN ADVANCE	
Purchase Order Number	Required Date		Sales Person	Our Order Number	
2025-BU14276A	01/27/2025		MICHAEL RONGSTAD	94243	
Quantity	Item Number		Description	Unit Price	Amount
Required	Shipped	B.O.			

\*\*\*\*\*  
JOB #10872 W/#I1613  
\*\*\*\*\*

1.000	HD300EM-2	PHALANX BARRIER - 1 M HIGH DUAL EM BARRIER SYSTEM LENGTH:109"	166966.00	166966.00
1.000	HD300EM-2	PHALANX BARRIER - 1 M HIGH DUAL EM BARRIER SYSTEM LENGTH:109"	166966.00	166966.00
4.000	B2005	FLUSH MOUNTED PHALANX LIMIT SWITCH INSTALLATION FULLY DOWN	230.20	920.80
4	B2006	FLUSH MOUNTED PHALANX LIMIT SWITCH INSTALLATION FULLY UP	230.20	920.80
4.000	B1294	HEATER PACKAGE MODEL DSC501 PHALANX - 220 VOLT SYSTEMS DELTA ASSEMBLY	931.47	3725.88
4	B6014	BARRIER GALVANIZED WHOLE BARRIER RUST PREVENTION	5516.98	22067.92
4	CUSTOM	BARRIER LIGHTS 3 REDLED LIGHTS	750.00	3000.00
4	CUSTOM	RED AND WHITE RETROREFLECTIV PAINT (2019 SDDCTEA PAMPHLET PAGE 8-17)	450.00	1800.00
2.000	B1299	NEMA 4 ENCLOSURE FOR ELECTRICAL MECHANICAL SYSTEM (EMS) CONTROL CIRCUIT	954.75	1909.50
2.000	B1013	TAMPER SWITCH HPU ENCLOSURE DOOR	350.63	701.26
	2531-113	DISCONNECT SWITCH,	660.00	1320.00



*Certified true and correct. Made in the USA. Amounts shown are in US Dollars.*

LA-C00-69526-696150c54eed6/January 09, 2026

# COMMERCIAL INVOICE

Page no. 2

## Delta Scientific Corp.

40355 Delta Lane  
Palmdale, CA 93551

Order No.: 94243  
Customer No.: SKE03

Bill To: **SKE INTERNATIONAL**  
VIALE VENEZIA, 79B  
33074 FONTANAFREDDA

Ship To: **TBD**  
VIALE VENEZIA, ITALY

Date	Ship Via		F.O.B.	Terms	
06/18/2025	BEST WAY		Origin	CASH IN ADVANCE	
Purchase Order Number	Required Date		Sales Person	Our Order Number	
2025-BU14276A	01/27/2025		MICHAEL RONGSTAD	94243	
Quantity	Item Number		Description	Unit Price	Amount
Required	Shipped	B.O.			
			NON-FUSED IN A NEMA 1 ENCLOSURE		
2	2457-120		RELAY, 24 VDC, DIN MOUNTED	290.08	580.16
4.000	2463-48F		RED PILOT LIGHT, 22 MM	120.00	480.00
16	2460-60A		SINGLE DIN MOUNT 100/PACK 12 AWG	25.00	400.00
2			DIN RAIL, 35MM, 12 INCH PIECE	20.00	40.00
2.000	B1260		ELECTRICAL DISCONNECT SW MOUNTED ON POWER UNIT	816.20	1632.40
2.000	B1215		HYD POWER UNIT ENCLOSURE DELTA POWER UNITS 60" W X 36" D X 60" H	3998.47	7996.94
2.000	B1249C		BATTERY BACKUP, POWER UNITS TO RUN UP TO 5 HP PUMP MOTORS/EM UNITS	7370.73	14741.46
2.000	B1260		ELECTRICAL DISCONNECT SW MOUNTED ON POWER UNIT	673.55	1347.10
1.000	B1136		CONSOLET FOR BARRIER RACK MOUNT CONTROL PANELS	695.00	695.00
1.000	B1013		TAMPER SWITCH HPU ENCLOSURE DOOR	350.63	350.63
1	2461-115		TRIPP-LITE ECO SERIES 120V 550VA 300W, UPS WITH USB MONITORING & 8 OUTLETS	350.00	350.00
	ACP90750		ACP GUARD BOOTH CONTROL	485.00	970.00



*Certified true and correct. Made in the USA. Amounts shown are in US Dollars.*

LA-C00-69526-696150c54eed6/January 09, 2026

# COMMERCIAL INVOICE

Page no. 3

## Delta Scientific Corp.

40355 Delta Lane  
Palmdale, CA 93551

Order No.: 94243  
Customer No.: SKE03

Bill To: **SKE INTERNATIONAL**  
VIALE VENEZIA, 79B  
33074 FONTANAFREDDA

Ship To: **TBD**  
VIALE VENEZIA, ITALY

Date	Ship Via		F.O.B.	Terms	
06/18/2025	BEST WAY		Origin	CASH IN ADVANCE	
Purchase Order Number	Required Date		Sales Person	Our Order Number	
2025-BU14276A	01/27/2025		MICHAEL RONGSTAD	94243	
Quantity	Item Number		Description	Unit Price	Amount
Required	Shipped	B.O.			
			PANEL - EFO BUTTON WITH STATUS LIGHTS		
5.000	B1013		TAMPER SWITCH HPU ENCLOSURE DOOR	350.63	1753.15
4.000	ACP42-C		ACP GUARD BOOTH CONTROL PANEL WITH COVERED EFO	525.00	2100.00
2.000	ACP90800-2		ACP MAINTENANCE PANEL DUAL BARRIER WITH REMOTE-MAINTENANCE SWITCH	3379.00	6758.00
2.000	B1013		TAMPER SWITCH HPU ENCLOSURE DOOR	350.63	701.26
1.000	B1135		PEDESTAL MOUNT FOR CONSOLETS TYPE PANELS INCLUDES BASE AND COLUMN	1200.00	1200.00
1	CUSTOM		CUSTOM NEMA4X SECURITY ENCLOSURE FOR SECONDARY SLAVE PANEL LOCATION	2800.00	2800.00
1	CUSTOM		ACP90740 GUARD BOOTH CONTROL PANEL EFO QUICK DISCONNECT	1600.00	1600.00
1.000	B1013		TAMPER SWITCH HPU ENCLOSURE DOOR	350.63	350.63
1.000	ACP90674		ACP MAIN PLC CONTROLLER UP TO SIX LANES CONTROLLED POWER SUPPLY/ENCLOSURE	1460.00	1460.00
2.000	ACP90692		ACP PLC LANE CONTROLLER ASSY TWO LANE CONTROLLERS POWER SUPPLY/ENCLOSURE	2482.00	4964.00



*Certified true and correct. Made in the USA. Amounts shown are in US Dollars.*

LA-C00-69526-696150c54eed6/January 09, 2026

# COMMERCIAL INVOICE

Page no. 4

## Delta Scientific Corp.

40355 Delta Lane  
Palmdale, CA 93551

Order No.: 94243  
Customer No.: SKE03

Bill To: **SKE INTERNATIONAL**  
VIALE VENEZIA, 79B  
33074 FONTANAFREDDA

Ship To: **TBD**  
VIALE VENEZIA, ITALY

Date	Ship Via		F.O.B.	Terms	
06/18/2025	BEST WAY		Origin	CASH IN ADVANCE	
Purchase Order Number	Required Date		Sales Person	Our Order Number	
2025-BU14276A	01/27/2025		MICHAEL RONGSTAD	94243	
Quantity	Item Number		Description	Unit Price	Amount
Required	Shipped	B.O.			

8.000	MPL-21-10	10' HIGH POST W/12" SQUARE MOUNTING FLANGE SPECITY COLOR	395.00	3160.00
4.000	MPL-10RRA	8" LED DUAL STOP SIGNAL RED/RED, AMBER, VISOR, CHASE NIPPLE & L. NUT	1627.00	6508.00
4	CUSTOM	MOUNTING HARWARE FOR MPL-10RRA	550.00	2200.00
4	CUSTOM	36"X36" LED BLANK-OUT SIGN "DO NOT ENTER"( R5-1)	6500.00	26000.00
1	CUSTOM	BACK TO BACK MOUNT BRACKET FOR 36"X36" BLANK OUT SIGN	495.00	495.00



*Certified true and correct. Made in the USA. Amounts shown are in US Dollars.*

LA-C00-69526-696150c54eed6/January 09, 2026

# COMMERCIAL INVOICE

Page no. 5

## Delta Scientific Corp.

40355 Delta Lane  
Palmdale, CA 93551

Order No.: 94243  
Customer No.: SKE03

Bill To: **SKE INTERNATIONAL**  
VIALE VENEZIA, 79B  
33074 FONTANAFREDDA

Ship To: **TBD**  
VIALE VENEZIA, ITALY

Date	Ship Via		F.O.B.	Terms	
06/18/2025	BEST WAY		Origin	CASH IN ADVANCE	
Purchase Order Number	Required Date		Sales Person	Our Order Number	
2025-BU14276A	01/27/2025		MICHAEL RONGSTAD	94243	
Quantity	Item Number		Description	Unit Price	Amount
Required	Shipped	B.O.			
4		CUSTOM	WIG-WAG FLASHING 12" YELLOW TRAFFIC LIGHT (LED)	895.00	3580.00
4		CUSTOM	"BARRIER ACTIVATED AHEAD" SIGN/ATTACHING HARDWARE (36"X36") BLACK LEGEND	565.00	2260.00
4		CUSTOM	"WHEN FLASHING" SIGN/ATTACHING HARDWARE (30"X24")	465.00	1860.00
2		CUSTOM	"BARRIER SIGNAL" SIGN (36"X24") (R10-13-TEA) WHITE	465.00	930.00
2		CUSTOM	"STOP HERE ON RED" SIGN/POST ATTACHING HARDWARE (24"X30") (R10-6AL) BLACK LEGEND	565.00	1130.00
2		CUSTOM	"STOP HERE ON RED" SIGN/POST ATTACHING HARDWARE (24"X30") (R10-6AR)	565.00	1130.00
2.000		B1175	SELF-PRIMING SUMP PUMP 100/120 VOLT 50/60 HZ	606.41	1212.82
2		B1170	WARNING HORN PROGRAMMABLE WATER TIGHT 24 VDC	981.00	1962.00
8		B2100	VEHICLE LOOP DETECTOR KIT 24 VAC,50/60 HZ OR 12-24 VDC LMH4-11 & LMA-1250-LV	290.29	2322.32
1		CUSTOM	TEST PLAN AND TEST REPORT INCLUDED	0.00	0.00

\*\*\*\*\*
 SUBMITTALS REQUIRED  
FOR APPROVAL  
\*\*\*\*\*  
PO#: 2025-BU14276A/PO#01-R1



*Certified true and correct. Made in the USA. Amounts shown are in US Dollars.*

LA-C00-69526-696150c54eed6/January 09, 2026

# COMMERCIAL INVOICE

Page no. 6

## Delta Scientific Corp.

40355 Delta Lane  
Palmdale, CA 93551

Order No.: 94243  
Customer No.: SKE03

Bill To: **SKE INTERNATIONAL**  
VIALE VENEZIA, 79B  
33074 FONTANAFREDDA

Ship To: **TBD**  
VIALE VENEZIA, ITALY

Date	Ship Via		F.O.B.	Terms	
06/18/2025	BEST WAY		Origin	CASH IN ADVANCE	
Purchase Order Number	Required Date		Sales Person	Our Order Number	
2025-BU14276A	01/27/2025		MICHAEL RONGSTAD	94243	
Quantity	Item Number		Description	Unit Price	Amount
Required	Shipped	B.O.			

\*\*\*\*\*  
MODEL: (2) HD300EM-2  
CLEAR OPENING: 109"

POWER: 230/3/50  
COLOR: RED AND WHITE  
VERTICAL STRIPES (ACP)

\*\*\*\*\*  
POC: JENNIFER MASSING  
+39-331-659-7068  
JMASSING@SKE.EU

Order subtotal	477864.03
Discount	-153319.80
Freight charges	16000.00
Order total	340544.23

THANK YOU FOR PROMPT PAYMENT.



*[A large blue ink signature is present here, covering the text below]*

**Certified true and correct. Made in the USA. Amounts shown are in US Dollars.**